Cake Creator - Player 1 | Cake Creator - Player 2

I can solve a problem and check the answer using estimation. I can solve a problem and check the answer using estimation.

In pairs, take turns to select a word problem to complete. Once
completed, ask your partner to check your answer. If your answer is
correct, colour a layer of your cake. The first person to colour their
entire cake wins!

In pairs, take turns to select a word problem to complete. Once
completed, ask your partner to check your answer. If your answer is
correct, colour a layer of your cake. The first person to colour their
entire cake wins!
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*

* This year, the
school is having a bake
sale. Two teams of children
bake cookies. Dardan's
team sells cookies in boxes
of 36. Ayla’s team sells
cookies in bags of 20.
Dardan’s team bake eight
boxes and Alya’s team
bake 12 bags of cookies.

How many cookies did the
children bake altogether?

Cookies are sold in boxes of
36 and in bags of 20.

How many more cookies
are there in five boxes than
in five bags?

% 2% %

Packets of crisps are
sold in boxes of 28 and in
bags of 12.

How many more packets
of crisps are there in seven
boxes than in seven bags?

A recipe for a
rhubarb drizzle
cake:

* %

400g flour
200g sugar
100g rhubarb
125ml oil
250ml milk
Two eggs

John buys a 1.6kg bag
of flour to make a larger
cake. How much sugar and
oil will be needed to make
this cake?

* A recipe for a
rhubarb drizzle
cake:

400g flour
200g sugar
100g rhubarb
125ml oil
250ml milk
Two eggs

Martha had six eggs, but
one egg broke. She wants
to make the cake using five
eggs. How much of each
ingredient does she need?

A recipe for a
rhubarb drizzle
cake:

400g flour
200g sugar
100g rhubarb
125ml oil
250ml milk
Two eggs

Marcel only has 150ml of
milk. How much of the
remaining ingredients will
he need instead?

Ingredients for
chocolate
biscuits:

200g dark chocolate
75¢g butter
225¢g sugar
Two eggs
150g self-raising flour

A teacher is going to use
the recipe with his class
of children. He buys a box
of 12 eggs. Sugar comes
in 500g bags. How many
bags of sugar will the
teacher need?

* %

w Large chocolate
cake - £9.75

Medium lemon
cake - £799

Small Victoria sponge cake
- £5.50

Hamed has £15 to
buy cake.

What are the different
combinations of cakes that
he can buy?

Large chocolate
cake - £9.75

Medium lemon
cake - £799

Small Victoria sponge cake
- £5.50

Eliza has £20 and Iwan
has £10. They buy one
large chocolate cake
and three small Victoria
sponges. They agree to
share the cost in a ratio
of 2:1.

How much will they
each pay?

w
w
w

Trudy wants a whisk
that costs £4.85, a set of
spatulas that costs £7.62
and a mixing bowl that

costs £12.74. Trudy already
has £13.60.

How much more money
does Trudy need?
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Nessa wants a measuring
jug that costs £5.35, a set
of measuring spoons that
cost £4.58 and an electric
whisk that costs £21.46.
Nessa already has £17.49.

How much more money
does Nessa need?

*
*

*

Malik bought three boxes
of sugar and two boxes of
flour. Each box of sugar
contained 16 bags and
each box of flour contained
21 bags.

How many more bags of
sugar than bags of flour
did Malik buy?

*
*
*

Ralph bought five
boxes of raisins and three
boxes of nuts. Each box of
raisins contained 47 bags

and each box of nuts
contained 63 bags.

How many more bags of
raisins than bags of nuts
did Ralph buy?

X% %%

Baking Show Tickets:
Adult £11.65
Child £7.80

A group of 32 children and
four adults are going to the
baking show.

How much will it
cost altogether?

% 2% %

Cookery Class
Adult £9.35
Child £5.90

A group of 27 children and
six adults are attending a
cookery class.

How much will it cost
altogether?

Before dinner break, Ruth
has a cooking class for
40 minutes. Dinner break
lasts for 45 minutes and
ends at 11.20a.m.

What time does her
cooking class start?

Maya needs to finish
baking for 11a.m. She
starts baking at 8.50a.m.
It takes 98 minutes to
finish baking.

How many minutes before
11a.m. does she finish?

% % %

Rufus needs to finish
baking for 1p.m. He starts
at 10.54a.m. It takes him

44 minutes to prepare
his ingredients and 30
minutes to finish baking.

How many minutes before
1p.m. does he finish?

At the beginning

of June, a store bought

a mixer and priced it at

£530. By the end of the
month, the mixer had not
sold, so the store marked
it down 30%. Roman then
sold the mixer, earning a
commission of 10% of the

sale price.

How much commission did
he make from the sale?

w
w
w

The cake shop target sales
are 1600 cakes per week.
By Wednesday, Assistant
A has sold 535 cakes and
assistant B has sold 284.

How many more cakes do
they have to sell to meet
the shop’s target?
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Cake Creator Answers

This year, the school is having a bake sale. Two teams
of children bake cookies. Dardan’s team sells cookies
in boxes of 36. Ayla’s team sells cookies in bags of 20.
Dardan’s team bake eight boxes and Alya’s team bake
12 bags of cookies. How many cookies did the children
bake altogether?

$238

Cookies are sold in boxes of 36 and in bags of 20.
How many more cookies are there in five boxes than
in five bags?

A recipe for a rhubarb drizzle cake:

400g flour

200g sugar

1009 rhubarb

125ml oil

250ml milk

Two eggs

John buys a 1.6kg bag of flour to make a larger cake.
How much sugar and oil will be needed to make this
cake?

A recipe for a rhubarb drizzle cake:

400g flour

200g sugar

1009 rhubarb

125ml oil

250ml milk

Two eggs

Marcel only has 150ml of milk. How much of the
remaining ingredients will he need instead?

20

8009 sugar
sooml oil

Packets of crisps are sold in boxes of 28 and in bags
of 12. How many more packets of crisps are there in
seven boxes than in seven bags?

n2

A recipe for a rhubarb drizzle cake:

400g flour

200g sugar

100g rhubarb

125ml oil

250ml milk

Two eggs

Martha had six eggs, but one egg broke. She wants
to make the cake using five eggs. How much of each
ingredient does she need?

2409 flour
1209 sugar
609 rhubarb
75ml oil

I large egg

lkg flour

5009 sugar
2509 rhubarb
312.5ml oil
62sml milk

Ingredients for chocolate biscuits:

200g dark chocolate

75g butter

225g sugar

Two eggs

150g self-raising flour

A teacher is going to use the recipe with his class of
children. He buys a box of 12 eggs. Sugar comes in
500g bags. How many bags of sugar will the teacher
need?

Three bags of sugar
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Cake Creator Answers

Large chocolate cake £9.75

Medium lemon cake £7.99

Small Victoria sponge cake £5.50

Hamed has £15 to buy cake. What are the different
combinations of cakes that he can buy?

One large chocolate cake; one
medium lemon cake and one small
Victoria sponge cake, two small
Victoria sponge cakes.

Large chocolate cake £9.75

Medium lemon cake £7.99

Small Victoria sponge cake £5.50

Eliza has £20 and Iwan has £10. They buy one large
chocolate cake and three small Victoria sponges. They
agree to share the cost in a ratio of 2:1. How much
will they each pay?

Eliza £17.50
lwan £8.75

Trudy wants a whisk that costs £4.85, a set of spatulas
that costs £7.62 and a mixing bowl that costs £12.74.
Trudy already has £13.60. How much more money

does Trudy need?

£1.61

Nessa wants a measuring jug that costs £5.35, a set
of measuring spoons that cost £4.58 and an electric
whisk that costs £21.46. Nessa already has £17.49.
How much more money does Nessa need?

£13.90

Cookery Class

Adult £9.35

Child £5.90

A group of 27 children and six adults are attending a
cookery class. How much will it cost altogether?

Malik bought three boxes of sugar and two boxes of
flour. Each box of sugar contained 16 bags and each
box of flour contained 21 bags. How many more bags
of sugar than bags of flour did Malik buy?

£215.490

Before dinner break, Ruth has a cooking class for 40
minutes. Dinner break lasts for 45 minutes and ends
at 11.20a.m. What time does her cooking class start?

[

9.55a.m.

Ralph bought five boxes of raisins and three boxes of
nuts. Each box of raisins contained 47 bags and each
box of nuts contained 63 bags. How many more bags
of raisins than bags of nuts did Ralph buy?

Maya needs to finish baking for 11a.m. She starts
baking at 8.50a.m. It takes 98 minutes to finish
baking. How many minutes before 11a.m. does she

finish?

46

10.22a.m. - 32 minutes

Baking Show Tickets

Adult £11.65

Child £7.80

A group of 32 children and four adults are going to
the baking show. How much will it cost altogether?

Rufus needs to finish baking for 1p.m. He starts at
10.54a.m. It takes him 44 minutes to prepare his
ingredients and 30 minutes to finish baking. How
many minutes before 1p.m. does he finish?

£296.20

12.08p.m. = S2 minutes

Regent Studies | www.regentstudies.com



https://www.regentstudies.com

* % %

At the beginning of June, a store bought a mixer
and priced it at £530. By the end of the month, the

mixer had not sold, so the store marked it down 30%.

Roman then sold the mixer, earning a commission of
10% of the sale price. How much commission did he
make from the sale?

£37.10

The cake shop target sales are 1600 cakes per week.
By Wednesday, Assistant A has sold 535 cakes and
assistant B has sold 284. How many more cakes do
they have to sell to meet the shop's target?

73] cakes

Cake Creator Answers

Regent Studies | www.regentstudies.com


https://www.regentstudies.com

Cake Creator - Player 1 | Cake Creator - Player 2

I can solve a problem and check the answer using estimation. I can solve a problem and check the answer using estimation.

In pairs, take turns to select a word problem to complete. Once
completed, ask your partner to check your answer. If your answer is
correct, colour a layer of your cake. The first person to colour their
entire cake wins!

In pairs, take turns to select a word problem to complete. Once
completed, ask your partner to check your answer. If your answer is
correct, colour a layer of your cake. The first person to colour their
entire cake wins!

Regent Studies | www.regentstudies.com


https://www.regentstudies.com

A recipe for a chocolate
cake requires 245g
of sugar.

How many grams of sugar
are needed for
12 cakes?

A recipe for some delicious
banana bread requires
3129 of flour.

How many grams of flour
are needed for 15 banana
breads?

w

Margot is baking a
wedding cake. The recipe
requires 532g of butter.
She cuts off part of a
butter block and it weighs
0.276kg.

How many more grams of
butter does she need for
the recipe?

A container holds
3.6kg of flour. Amelia uses
1763g.

How many kilograms of
flour is left in
the container?

Marina sells cookies in
boxes of 24.

If she sells seven boxes of
cookies, how many cookies
did she sell

in total?

Emily and her four friends
buy a bag of chocolate
truffles. The chocolate

truffles cost £13.25. They
share the cost between
them.

How much do they
pay each?

Markus and his six friends
go to a sweet shop. The
total cost of the sweets is
£48.09. They share the
cost equally between them.

How much do they
pay each?

*

Rachel is making a
batch of cookies. She uses
0.62kg of butter, 5009 of
light brown sugar, 625g of

caster sugar, 1.35kg of self-
raising flour and 0.8kg of
chocolate chips.

What is the total weight of
her ingredients?

Cihan is making
Viennese whirls. He uses
0.6kg of salted butter,
520g of icing sugar,
0.005kg of baking soda,
0.8kg of plain flour, 10g of
cornflour, 300g of butter
and 0.15kg of strawberry
jam.

What is the total weight of
his ingredients?

A baker’s recipe for
flapjack requires 240g
of oats. This makes 18

flapjacks.

What quantity of oats
is needed to make 24
flapjacks?

REgE
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This recipe
makes 12 mini
carrot cakes.

Ingredients:

240ml vegetable oil,
eight eggs,
200g self-raising flour,
320g caster sugar,
1tsp ground cinnamon,
880g grated carrot.

How much of each
ingredient is needed to
make three mini
carrot cakes?

*

Here are the
ingredients
for a ciabatta plait.

Ingredients (serves 10)

500g white flour,
79 dried yeast,
1g salt,
350ml water.

How many grams of flour
would be needed to serve
45 people?

w

Here are the
ingredients
for a ciabatta plait.

Ingredients (serves 10)

500g white flour,
79 dried yeast,
1g salt,
350ml water.

How many millilitres of
water would be in each
serving?

*

Jin wants to
bake some
chocolate biscuits.

Here is the recipe:
200g dark chocolate,
75¢g butter,

2259 sugar,
150g self-raising flour.

Jin only has 50g of butter.
How much sugar will he
now need?

A box contains 54 bags
of chocolates. Each bag
contains 29 chocolates.

How many chocolates are
in one box?

A box contains 78 bags of
cookies. Each bag contains
13 cookies.

How many cookies are in
one box?

Tariq has 1.32kg of flour
before baking. After
baking, he has 684g

of flour left.

How much flour did he use
in kilograms?

*

A store receives a delivery.

15 694 bags of sugar,
3842 bags of flour and
19 284 bags of hazelnuts
are delivered.

How many items are
delivered altogether?

A store receives a delivery.
21 483 of bags of self-
raising flour, 5342 bags of
sugar and 12 483 bags
of raisins are delivered.

How many items are
delivered altogether?

A cookie contains
0.012kg of raisins.

How many grams of
raisins would 3156
cookies contain?
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Cake Creator Answers

A recipe for a chocolate cake requires 245g of sugar.
How many grams of sugar are needed for 12 cakes?

29409 or 2.94kg

Emily and her four friends buy a bag of chocolate
truffles. The chocolate truffles cost £13.25. They share
the cost between them. How much do they pay each?

A baker’s recipe for flapjack requires 240g of oats. This
makes 18 flapjacks. What quantity of oats is needed to
make 24 flapjacks?

A recipe for some delicious banana bread requires 312g
of flour. How many grams of flour are needed for 15
banana breads?

£2.6S

3209

46809 or 4.68kg

Markus and his six friends go to a sweet shop. The
total cost of the sweets is £48.09. They share the cost
equally between them. How much do they pay each?

Margot is baking a wedding cake. The recipe requires
532g of butter. She cuts off part of a butter block and it
weighs 0.276kg. How many more grams of butter does
she need for the recipe?

£6.87

2569

Rachel is making a batch of cookies. She uses 0.62kg of
butter, 500g of light brown sugar, 6259 of caster sugar,
1.35kg of self-raising flour and 0.8kg of chocolate
chips. What is the total weight of her ingredients?

This recipe makes 12 mini carrot cakes.

Ingredients; 240ml vegetable oil, eight eggs, 200g
self-raising flour, 320g caster sugar, 1 teaspoon
ground cinnamon, 880g grated carrot.

How much of each ingredient is needed to make three
mini carrot cakes?

A container holds 3.6kg of flour. Amelia uses 1763g.
How many kilograms of flour is left in the container?

3295g or 3.395kg

1.837kg

Marina sells cookies in boxes of 24. If she sells seven
boxes of cookies, how many cookies did she sell in total?

Cihan is making Viennese whirls. He uses 0.6kg of
salted butter, 520g of icing sugar, 0.005kg of baking
soda, 0.8kg of plain flour, 10g of cornflour, 300g of
butter and 0.15kg of strawberry jam. What is the total
weight of his ingredients?

6om| vegetable oil

two eggs

$0g self-raising four

809 caster sugar

Y% teaspoon of ground cinnamon
2209 grated carrot

162 cookies

238549 or 2.33Skg

Here are the ingredients for a ciabatta plait.
Ingredients (serves 10)

5009 white flour, 7g dried yeast, 1g salt, 350ml
water.

How many grams of flour would be needed to serve
45 people?
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Cake Creator Answers

Here are the ingredients for a ciabatta plait.
Ingredients (serves 10)

5009 white flour, 7g dried yeast, 1g salt, 350ml
water.

How many millilitres of water would be in each
serving?

Tariq has 1.32kg of flour before baking. After baking,
he has 684g of flour left. How much flour did he use

in kilograms?

0.636kg

3swml of water

Jin wants to bake some chocolate biscuits.

Here is the recipe:

200g dark chocolate, 759 butter, 225g sugar, 150g
self-raising flour.

Jin only has 50g of butter. How much sugar will he
now need?

A store receives a delivery. 15 694 bags of sugar,
3842 bags of flour and 19 284 bags of hazelnuts are
delivered. How many items are delivered altogether?

32 320

150

A store receives a delivery. 21 483 of bags of self-
raising flour, 5342 bags of sugar and 12 483 bags of
raisins are delivered. How many items are delivered
altogether?

A box contains 54 bags of chocolates. Each bag contains
29 chocolates. How many chocolates are in one box?

39 308

1566 chocolates

A cookie contains 0.012kg of raisins. How many grams
of raisins would 3156 cookies contain?

A box contains 78 bags of cookies. Each bag contains
13 cookies. How many cookies are in one box?

37 8724 of raisins

1014 cookies
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Cake Creator - Player 1 | Cake Creator - Player 2

I can solve a problem and check the answer using estimation. I can solve a problem and check the answer using estimation.

In pairs, take turns to select a word problem to complete. Once
completed, ask your partner to check your answer. If your answer is
correct, colour a layer of your cake. The first person to colour their
entire cake wins!

In pairs, take turns to select a word problem to complete. Once
completed, ask your partner to check your answer. If your answer is
correct, colour a layer of your cake. The first person to colour their
entire cake wins!
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*
*
After the bake
sale, one box of
36 cookies and one bag
of 12 cookies remained.
The organisers decided to
give the remaining cookies
to the six students who
helped at the bake sale.
Each student received the
same number of cookies.

How many cookies do they
each receive?

A the recipe

* for the

most amazing
chocolate cake.

Recipe (serves 10)
220g plain flour
3509 caster sugar
85¢g cocoa powder
2 eggs
250ml milk
120ml vegetable oil

How many grams of
caster sugar would be in
four servings?

Here are the
ingredients
for a ciabatta plait:

Ingredients (serves 10)
500g white flour
79 dried yeast
1g salt
350ml water

How many grams of flour
would be needed to serve
45 people?

*

Here is a recipe
for a rhubarb
drizzle cake:

400g flour
200g sugar
100g rhubarb
125ml oil
250ml milk
2 eggs

Mariam only has 100ml
of oil. How much milk and
flour will she now need?

*

) @l Hereisthe
list of
ingredients
for chocolate biscuits:

200g dark chocolate
759 butter
225¢g sugar
2 eggs
150g self-raising flour

Kira only has 50g butter.
How much flour will she
now need?

Here is the
list of
ingredients
for chocolate biscuits:

200g dark chocolate
75g butter
225¢g sugar
2 eqggs
150g self-raising flour

Kat has a 3009 bar of
chocolate What weight of
sugar will she now need?

Dorothy is saving her
money for a new mixer
costing £564.

If she has already saved
£53 and is then given £287
for her birthday, how
much more does she need
to save?

*
*

A chocolate factory
needs to make 1345 bags
of chocolate an hour.

If a machine breaks down
and the factory only
makes 588 bags in one
hour, how many does it
need to make in the next
hour to catch up?

Maaria and
Susan were selling
cakes to raise money for
their chosen charities.
Maaria raised £146.75
and Susan raised £425.25.
They added their money
together and split the total
equally between
five charities.

How much money did each
charity receive?

*
*

Doughnuts come
in packs of 12. At the
beginning of the week,
the store had 78 packs of
doughnuts. At the end of
the week, there were 25
packs remaining.

How many individual
doughnuts were sold?
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*

Cupcakes come
in packs of four. At the
beginning of the week,
the store had 425 packs of
cupcakes. At the end of the
week, there were 124
packs remaining.

How many individual
cupcakes were sold?

There are 12 eggs
in each egg tray and
I bought 14 trays.

I used four trays of eggs
this weekend, how many
individual eggs do I
have left?

* %

Bags of sugar cost 78p
and I bought five.

If I paid with a £10 note,
how much change did
I receive?

* %

Rosie bought three cakes,
each costing £8.45. She
paid with £30.00.

How much change did
she receive?

*
) ¢

Markus bought four
spatulas, each costing
£1.75. He paid with a
£10 note.

How much change did
he receive?

Emil has four 700g
bags of raisins.

If he uses 15749 of raisins,
how many grams does he
have left?

Large chocolate
cake - £9.75

Medium lemon
cake - £8.05

Small Victoria sponge cake
- £5.50

Four children buy one
large chocolate cake and
one medium lemon cake,
sharing the cost equally.

How much do they
each pay?

Large chocolate
cake - £9.75

Medium lemon
cake - £799

Small Victoria sponge cake
- £5.50

Five children bought two
large chocolate cakes and
one small Victoria sponge
cake, sharing the
cost equally.

How much did they
each pay?

Large chocolate
cake - £9.75

Medium lemon
cake - £7.99

Small Victoria sponge cake
- £5.50

The cake shop runs a
‘Happy Hour’, where large
cakes are sold at 1 off.

How much would be saved
by buying a large cake in
the ‘Happy Hour’, rather

than a medium cake?

*
*

The cake shop target sales
are 1600 cakes per week.
By Wednesday, Assistant
A has sold 535 cakes and
assistant B has sold 284.

How many more cakes do
they have to sell to meet
the shop’s target?
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Cake Creator Answers

After the bake sale, one box of 36 cookies and one bag
of 12 cookies remained. The organisers decided to give
the remaining cookies to the six students who helped at
the bake sale. Each student received the same number

of cookies. How many cookies do they each receive?

2 cookies

A recipe for the most amazing chocolate cake.
Recipe - Serves 10

220g plain flour

3509 caster sugar

85g cocoa powder

2 eggs

250ml milk

120ml vegetable oil

How many grams of caster sugar would be in four
servings?

Here are the ingredients for a ciabatta plait:
Ingredients (serves 10)

500g white flour

7g dried yeast

1g salt

350ml water

How many grams of flour would be needed to serve
45 people?

Here is the list of ingredients for chocolate biscuits:
200g dark chocolate

759 butter

225g sugar

2 eggs

150g self-raising flour

Kira only has 509 butter. How much flour will she
now need?

22509

loog

1409

Here is a recipe for a rhubarb drizzle cake:

400g flour

200g sugar

100g rhubarb

125ml oil

250ml milk

2 eggs

Mariam only has 100ml of oil. How much milk and
flour will she now need?

Here is the list of ingredients for chocolate biscuits:
200g dark chocolate

759 butter

225¢g sugar

2 eggs

150g self-raising flour

Kat has a 300g bar of chocolate What weight of sugar
will she now need?

200m| milk
3209 flour

337.59
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Dorothy is saving her money for a new mixer costing
£564. If she has already saved £53 and is then given
£287 for her birthday, how much more does she need
to save?

£224
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*

Cake Creator Answers

A chocolate factory needs to make 1345 bags of
chocolate an hour. If a machine breaks down and the
factory only makes 588 bags in one hour, how many
does it need to make in the next hour to catch up?

There are 12 eggs in each egg tray and I bought 14
trays. I used four trays of eggs this weekend, how
many individual eggs do I have left?

2102 bags

120 eggs

Maaria and Susan were selling cakes to raise money
for their chosen charities. Maaria raised £146.75 and
Susan raised £425.25. They added their money together
and split the total equally between five charities. How
much money did each charity receive?

Bags of sugar cost 78p and I bought five. If I paid
with a £10 note, how much change did I receive?

Large chocolate cake £9.75

Medium lemon cake £8.05

Small Victoria sponge cake £5.50

Four children buy one large chocolate cake and one
medium lemon cake, sharing the cost equally. How
much do they each pay?

£6.10

£4.48

£114.40

Rosie bought three cakes, each costing £8.45. She
paid with £30.00. How much change did she receive?

Doughnuts come in packs of 12. At the beginning of the
weeR, the store had 78 packs of doughnuts. At the end
of the week, there were 25 packs remaining. How many
individual doughnuts were sold?

£4.68

Large chocolate cake £9.75

Medium lemon cake £7.99

Small Victoria sponge cake £5.50

Five children bought two large chocolate cakes and
one small Victoria sponge cake, sharing the cost
equally. How much did they each pay?

Markus bought four spatulas, each costing £1.75. He
paid with a £10 note. How much change did he receive?

£S

636 doughnuts

£3

Cupcakes come in packs of four. At the beginning of
the week, the store had 425 packs of cupcakes. At
the end of the week, there were 124 packs remaining.
How many individual cupcakes were sold?

Emil has four 700g bags of raisins. If he uses 1574g of
raisins, how many grams does he have left?

12264

1204 cupcakes

Regent Studies | www.regentstudies.com

Large chocolate cake £9.75

Medium lemon cake £7.99

Small Victoria sponge cake £5.50

The cake shop runs a ‘Happy Hour’, where large
cakes are sold at 3 off. How much would be saved by
buying a large cake in the ‘Happy Hour’, rather than
a medium cake?

£1.49
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*
* Cake Creator Answers

The cake shop target sales are 1600 cakes per week.
By Wednesday, Assistant A has sold 535 cakes and
assistant B has sold 284. How many more cakes do
they have to sell to meet the shop's target?

73 cakes
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__ Planlt Year 6
Addition, Subtraction,
Multiplication and Division

Continue the learning in this area of maths with exclusive teacher-created planning
packs. Please click on the links below to view our award-winning schemes of work.

Order of Operations .@ Addition, Subtraction,
Number Combo Multiplication and

/ﬁﬁ** Division
s AT
‘“Lz o | Challenae Cards

T

e, ©®
A
e w® .

o Year & Addition, Subtraction, Mull d Division | @ @
won, Starn Al Y
Multiplication and Division || [ oE=lo|F—o Prime Numbers. ct@
S| 1d o 1 .
tarter Ideas @ Ak ) ) T EE B @0 0
,,,,, T E 2 w15 s 18 20 -
o5 ®|=o|F==[0 il | il PR
® o | Tol==]0 3 B
o ol Jo| =2 || el
o Q|- : _—
@ @] . @
o= ) _@ L o iubtract ] E| o ision |
- i ol =
C Ol —To|E=I0 T
e 1 nultiply H
@ @ [o] —
S y |t !
¢ = = |@ divide
@ @ )

Jungle Division

monB oo egerisaB oo st

If you need us, just get in touch - contact
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